A & O & At

A

Ao (&Y - ZAINY/RALEXNRA)

PR (ZYHRLALY) 9 HA)
S BB SA(BH) - MEAMY - BHES 0f & o8 plEL" 2t

172,951 2,148,385 A 1,975,434
S - BAING/RIALERRX) 172,951 2,148,385 A 1,975,434
BFEH(SG ML AY) 172,951 2,148,385 A 1,975,434
24 48,411 2,023,345 A 1,974,934
04 1l 6,000 4,020 1,980
=L bl 6,000 4,020 1,980
O3gHEMY =& 6,000 4,020 1,980
— 22 Hl 60,000 x3F 25 4,500 2,520 1,980
401 Al&HI 2L 2 0H I 33,086 2,010,000 A 1,976,914
01 Al & HI 33,086 2,010,000 A 1,976,914
Oerard X =4 33,086 2,010,000 21,976,914
—ENHFEXN BAZ(NEE S) 0 2,000,000 A 2,000,000
— LMY BT SSHHT AX 25,000, 000& » 14 25,000 0 25,000
—SXNHERX ZZFEI} =2 183,400& 40 K| 7,336 9,250 AN1,914
=X gdst gty 118,900 120,000 21,100
401 AIEBIZL 208l 118,900 120,000 21,100
01 Al & HI 118,000 119,100 21,100
Ot AHT H=BLHMANE SRz 8249 1,500, 000& =122 18,000 19,100 A1,100
ObtA S JIBEAIE SAE2(3MHA) 100,000 100,000 0
—&J, 2,88 ,0I128 , 52 & ! 0 100,000 A 100,000
— S ULEAACT] HLAMEAE AI2EH| 100,000, 0003 *14] 100,000 0 100,000
MHET BSANE &2 5,640 5,040 600
2 B2 Al 5,640 5,040 600
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